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Polynomials Practices

a Write each phrase as an algebraic expression.
(1) 5 less than the 4 times of number :

(2) 3 times the sum of 7 and number y:

a Simplify and evaluate the polynomials using the given value.
M4z+3y—z+Lz=1Ly=2

2) ~5a+3a—b—4 a=—-4,b=—-3
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a Simplify and evaluate the polynomials using the given value.
(1) 22 +4y® —3y> +52, z2=4,y =2

(2) ar:y2 — 3a:2y — 2avzy2 + 4a:2y; z=1y=-1

q Simplify and evaluate the polynomials using the given value.
(1) —a+2bc+ 3a —3bc—2c;a=1,b=2,c=3

(2)4zy+3z—22y+2z6=2,y=3,2=4
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a Simplify:

(3a% — 2ab + b%) — (2a% — ab + 2b%) =

a Simplify:

2(a? + 3ab — 2b?) — (242 + 5ab — 4b%) =
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ﬂ Find the product, and write the answer in the standard form.
(2z+3)(4z—5) =

(42 — 2)(8z —7) =

Q Find the product.

(z+2)y-3) =

(@-8)w+7)=___
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a Calculate: (2¢®y — 4x?y? — 6zy) + 2zy =

Q Expand (5a® — 4a?b + 7ab® — 3b%)(2a® + 3ab — 3b%), the coefficient of a3b? is
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Polynomials Practices

a Write each phrase as an algebraic expression.
(1) 5 less than the 4 times of number :

(2) 3 times the sum of 7 and number y:

AaENEY 14— 5

2:3(7+vy)

<lollUjilelgl (1) 4 — b

(2)3(7T+y)

e Simplify and evaluate the polynomials using the given value.
MNdz+3y—z+Liz=1y=2

2) —ba+3a—b—4,a=—-4,b=—3

e (1)10

Sollien| (1) 4z +3y—z+1=38z+3y+1=3+6+1=10

2) —ba+3a—b—4=-2a—b—-4=8+3-4=7

e Simplify and evaluate the polynomials using the given value.
M2 +42 -3 +52,2=4,y=2

(2) zy? — 3%y — 2wy® + 42y, 2 =1,y = —1

AENE (1) 40

(2) -2
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(1)z2+4y2—3y2+5z=z2+y2+5z=16+4+20=4o

(2) zy? — 322y — 2z + 4y =2ly—axf =—-1-1=-2

a Simplify and evaluate the polynomials using the given value.
(1) —a+2bc+3a—3bc—2¢c;a=1,b=2,c=3

(2) dzy+ 3z —2zy+ z;x = 2,y=3,z2=4

(2) 28

(1)—a+2bc+3a—3bc—2c=2a—bc—2c=2—6—6=—10

(2) 4y + 3z — 22y +2=2zy+42=12+ 16 = 28

a Simplify:

(3a® — 2ab + b*) — (2a® — ab + 2b%) =

NEUEY a2 —ab — b2

<ol 1iel0l (3a% — 2ab + b?) — (2a% — ab + 2b7)
= 3a% — 2ab + b% — 24® + ab — 2b°

=a’—ab- ¥

a Simplify:

2(a? + 3ab — 2b?) — (2a2 + 5ab — 4b%) =

Answerm)

2(a® + 3ab — 2b%) — (2a® + Hab — 4b?)
= 2a® + 6ab — 4b® — 2a% — 5ab + 4b*
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ﬂ Find the product, and write the answer in the standard form.
(2z+3)(4z—5) =

(4 —2)(8z —7) =

NG 1:822 + 22 — 15

2:32¢2 — 44z + 14

<lollUiilen] (1) 822 — 10z + 122 — 15 = 822 + 2z — 15

(2) 3222 — 28z — 162 + 14 = 3222 — 44z + 14

a Find the product.

(z+2)(y—3) =

(@-5)w+7)=___
AENEE Tzy—3z+2y—6
2:xzy+ Tz —5y— 35

Slelltiifon) (1). zy+ 2y — 3z — 6

(2). xzy— By + 7 — 35

e Calculate: (2z%y — 42?1 — 6zy) + 2xy =

1.2:1:3y+2:1;y=:1:2

2. —4z’y? + 22y = 2=y

3. —6xy + 2zy = —3
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Answer : z? — 2zy — 3

Q Expand (5a3 — 4ab + 7ab? — 3b%)(2a® + 3ab — 3b%), the coefficient of a®b? is

In the expansion, a®b? comes from:
(1). 5a® - (—3b%) = —15a°b?
(2). —4a%b - 3ab = —12a3b?
(3). Tab? - 2a* = 14a%p?

Adding them together, we have —13a%%°.



